POWERBLOCK PROMAX COMMERCIAL STAND ASSEMBLY MANUAL




POWERBLOCK PROMAX COMMERCIAL STAND ASSEMBLY STEP 1

ITEM NO.

DESCRIPTION

QTY.

1

PROMAX STAND LEG WIELDMENT

2

2

PROMAX STAND BOTTOM LEG
WIELDMENT

1

STEEL HEX HEAD SCREW, M10 X 1.5
mm THREAD, 70 mm LONG, PARTIAL
THREADED

STEEL HEX NUT, M10 X 1.5 mm
THREAD

STEEL WASHER FOR M10 SCREW
SIZE

TOOLS NEEDED: TWO 17mm WRENCHES.

1. ATTACH BOTTOM TRAY (ITEM 2) TO ONE STAND LEG (ITEM 1) WITH SUPPLIED
HARDWARE. DO NOT TIGHTEN HARDWARE.

2. ATTACH OTHER STAND LEG (ITEM 1) TO BOTTOM TRAY (ITEM 2) WITH SUPPLIED
HARDWARE. DO NOT TIGHTEN HARDWARE. 3. TIGHTEN ALL HARDWARE.




POWERBLOCK PROMAX COMMERCIAL STAND ASSEMBLY STEP 2

ITEM NO. DESCRIPTION QTY.
1 PROMAX STAND LEG WIELDMENT 2
2 PROMAX STAND TOP STAND 1
WIELDMENT
3 M10 - 1.5mm X 70mm HEX HEAD BOLT 4
4 STEEL HEX NUT, M10 X 1.5 mm 4
THREAD
5 STEEL WASHER FOR M10 SCREW 8
SIZE

TOOLS NEEDED: TWO 17mm WRENCHES.

1.

ATTACH TOP TRAY (ITEM 2) TO ONE STAND LEG (ITEM 1) WITH SUPPLIED HARDWARE.
DO NOT TIGHTEN HARDWARE.

ATTACH OTHER STAND LEG (ITEM 1) TO TOP TRAY (ITEM 2) WITH SUPPLIED HARDWARE.
DO NOT TIGHTEN HARDWARE.

TIGHTEN ALL HARDWARE.




POWERBLOCK PRO MAX COMMERCIAL STAND ASSEMBLY STEP 3

ITEM NO.

DESCRIPTION

QTY.

1

PROMAX STAND

2

2

PROMAX STAND CASTERS

1

STEEL HEX HEAD SCREW, M8 X 1.25
mm THREAD, 20 mm LONG

STEEL HEX NUT, M8 X 1.25 mm
THREAD

STEEL WASHER FOR M8 SCREW
SIZE

TOOLS NEEDED: TWO 13mm WRENCHES.

1.

2.

ATTACH CASTERS (ITEM 2) TO STAND (ITEM 1) WITH SUPPLIED HARDWARE. TIGHTEN

HARDWARE.

ATTACH CASTERS WITH BRAKE (ITEM 3) TO STAND (ITEM 1) WITH SUPPLIED

HARDWARE.

TIGHTEN HARDWARE.




